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PLEASE ACCEPT ANY APPROPRIATE ANSWER NOT MENTIONED IN THIS KEY.
I. COMPREHENSION (15 POINTY)
Testees should not be penalised for spelling or grammar mistakes in the comprehension section.
A. TRUE OR FALSE (3 pts) (1 pteach: 0.5 pt for the right choice and 0.5 pt for the right justification)
1. F: Kapour is one of India's five million school dropouts...
2. F: ...the books are free/The school buses are equipped ...with a TV screen, books, puzzles and toys...
3. T: The project has reduced the number of dropouts from 25 million to five million...
B. WH QUESTIONS (3 pts; 1pt each)
1. ..carries/carrying bags of vegetables to their shop.../works with his father in a shop...
2. They can’t afford to send their children to school/.. are unable to provide birth certificates.../... need their children to
help around the house ...
3. The Department for International Development .../ ...the government...
C. SENTENCE COMPLETION (2 pts; 1pt each)
1. .. .. hesitated to send their children to school.
2. .. .persuaded other mothers to send their children to school..
D. WORD MEANING (3 pts; 1pt each)
1. siblings  2.powerful 3. pursue
E. WORDS REFERENCE (2 pts; 1pt each)
1. them: migrant workers 2. she: Shaheen

F. THE BEST TITLE: (2 pts) The best title is: Mobile schools in India
I1. LANGUAGE (15 POINTS)
A. GAP FILLING (2 pts; 1pteach)

1- which 2. doing

B. PHRASAL VERBS (2 pts, 1 each)
1. show up 2. find out
C. VERB TENSE (3pts)
Did she manage - got - had already left
D. CORRECT FORM (2 pts; 1pt each)
artistic - popularity
E. SENTENCE REWRITING (2pts; 1pt each)
1. Old people should be respected.... 2. | wish you had taken ...
F. SENTENCE JOINING (2 pts; 1pt each)
1. Although the school conditions have improved a lot, many students are dropping out of school / Many students are
dropping out of school although....
2. The Browns went to a famous restaurant in order to celebrate their wedding anniversary/In order to celebrate...

G. FUNCTIONS (2 pts; 1pt each) Accept any appropriate answer
HLWRITING (10 POINTS)
Scoring criteria Scores
Relevance of content to the task (3 pts)
Paragraph and composition organisation (2 pts)
Appropriateness and variety of vocabulary (2 pts)
Accuracy of grammar (2 pts)
Mechanics ( spelling, punctuation, capitalisation) (1 pt)



BAHIDEV
Texte tapé à la machine
لمزيد من دروس، ملخصات، امتحانات... موقع قلمي
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